
Group: ECOWIND

Engine: 15LD 350 Ecowind   Drawing: F

COOLING SYSTEM/STARTING

POS. CODE DESCRIPTION Qty

  1 5066.406 rear panel 1

  2a 2500.111 hollowstud 2

  2b 2500.114 hollowstud 1

  3 5066.311 side panel 1

  4 9865.122 screw M 6 X 12 1

  6a 2565.098 shroud 1

  6b 2565.099 shroud 1

 42 6745.052 pressure oil switch M 10 1,4 bar - brown 1

 42 6745.081 pressure oil switch M 10 1,4 bar - twin contact 1

 49 992R.024 screw M 10 X 25 2

 50 5840.216 starting motor 24 V 1

 50 5840.244 starting motor 12 V 1

 51 9195.022 oil thermostat 1

 66 7565.007 washer diam. 8 1

 67 3240.018 nut M 8 1

 68 7625.008 washer diam. 6,4 1

 69 7555.004 washer diam. 6 1

 70 3240.009 nut 1

 76 9730.402 screw M 6 5

 77 3410.074 fan plate 1

 78 3525.128 spacer 5

 79 3525.127 spacer 5

 80 5066.361 panel 1

 81 9718.115 blower fan 2

 82 9790.039 screw M 6 X 12 6

 83 2500.112 hollowstud 1

 84 2500.113 hollowstud 5

 85 7051.224 driving pulley 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: 15LD 350 Ecowind  Drawing: F

printed by LOMBARDINI:   11/08/2010


